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Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is considered to be Authentic.

Explain Ideal fluid and Real fluid briefly.

Crude is flowing through a pipe of 12 inch diameter at a rate of 120000
litre/hr. Specific gravity is 0.87 and Kinematic viscosity is 2.7 Centistock.
Find Reynold number and decide type of flow.

Explain Velocity Field, Velocity gradient and rate of shear.
Describe continuous gravity decanter with figure.

OR
An Inclined manometer is connected across an orifice. Height difference of
manometric fluid(Specific gravity = 1.4) along the inclined leg(angle o =30°)
is 6 cm. Specific gravity of flowing fluid is 0.8. Calculate pressure difference
in Pascal.

Write Bernoulli Equation and Describe Correction for fluid friction & Pump
work.
Give difference between pipe & tube.
OR
Define (i) Friction factor (ii)Pipe Roughness
(iii))Form friction  (v)Hydraulic radius
Write briefly on Friction losses in fittings and valves.

Give Difference between Reciprocating and centrifugal pump.
Describe Suction lift, Cavitation and NPSH.
OR
Write short note on Vacuum pumps and Jet Ejectors.
Describe Construction, working and application of Weirs.

Pressure difference measured by a manometer across the orifice is 3 cm of
mercury(Specific gravity =13.6)height. Pipe diameter and orifice diameter are
6 inch and 1.5 inch. Orifice Coefficient is 0.62. Calculate the velocity of
hydrocarbon liquid (Specific gravity =1.05 ) through the orifice.
Explain Pneumatic and Hydraulic conveying

OR
Explain Porosity of static bed, Porosity of fluidized bed and Minimum
porosity.
Describe Principle, Construction and working of Rotameter.
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